



Nimi: \_\_\_\_\_

Päivämäärä: \_\_\_\_\_ Pisteet: \_\_\_\_\_

$$\left(\left(\frac{2}{5}\right)^2 - \frac{2}{3}\right) \times \frac{3}{5} + \left(\frac{1}{2} - \frac{3}{2}\right)^2 =$$

$$\left(\frac{3}{5} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{3} + \frac{1}{3}\right)^2 =$$

$$\left(\left(\frac{2}{5}\right)^2 - \frac{1}{2}\right) \times \frac{3}{5} - \left(\frac{3}{5} + \frac{2}{5}\right)^2 =$$

$$\left(\frac{1}{6} + \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{6} - \left(\frac{3}{5}\right)^2\right) =$$

$$\left(\frac{1}{3} - \frac{1}{6}\right)^2 - \frac{1}{2}\left(\frac{1}{5} - \frac{1}{3}\right) =$$

$$\left(\frac{2}{3} - \frac{1}{5}\right)^2 + \frac{1}{3}\left(\frac{2}{3} + \frac{1}{3}\right) =$$

$$\left(2 - \frac{1}{2}\right)^2 + \frac{1}{6} + 3^2 - \frac{3}{4} =$$

$$\left(\left(\frac{3}{2}\right)^2 + \frac{2}{5}\right) \times \frac{1}{2} + \left(\frac{1}{4} + \frac{3}{5}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{4}\right) \times \frac{1}{2} + \left(\frac{1}{2} + \frac{1}{6}\right)^2 =$$

$$\left(\frac{1}{4} - \frac{1}{6}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) =$$



Nimi: \_\_\_\_\_

Päivämäärä: \_\_\_\_\_ Pisteet: \_\_\_\_\_

$$\left(\left(\frac{2}{5}\right)^2 - \frac{2}{3}\right) \times \frac{3}{5} + \left(\frac{1}{2} - \frac{3}{2}\right)^2 = \frac{87}{125}$$

$$\left(\frac{3}{5} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{3} + \frac{1}{3}\right)^2 = \left(-\frac{7}{360}\right)$$

$$\left(\left(\frac{2}{5}\right)^2 - \frac{1}{2}\right) \times \frac{3}{5} - \left(\frac{3}{5} + \frac{2}{5}\right)^2 = \left(-\frac{301}{250}\right) = \left(-1\frac{51}{250}\right)$$

$$\left(\frac{1}{6} + \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{6} - \left(\frac{3}{5}\right)^2\right) = \frac{973}{3600}$$

$$\left(\frac{1}{3} - \frac{1}{6}\right)^2 - \frac{1}{2}\left(\frac{1}{5} - \frac{1}{3}\right) = \frac{17}{180}$$

$$\left(\frac{2}{3} - \frac{1}{5}\right)^2 + \frac{1}{3}\left(\frac{2}{3} + \frac{1}{3}\right) = \frac{124}{225}$$

$$\left(2 - \frac{1}{2}\right)^2 + \frac{1}{6} + 3^2 - \frac{3}{4} = \frac{32}{3} = 10\frac{2}{3}$$

$$\left(\left(\frac{3}{2}\right)^2 + \frac{2}{5}\right) \times \frac{1}{2} + \left(\frac{1}{4} + \frac{3}{5}\right)^2 = \frac{819}{400} = 2\frac{19}{400}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{4}\right) \times \frac{1}{2} + \left(\frac{1}{2} + \frac{1}{6}\right)^2 = \frac{25}{36}$$

$$\left(\frac{1}{4} - \frac{1}{6}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) = \left(-\frac{7}{288}\right)$$